Дидактический материал для 7кл по теме
« Линейные уравнения с одной переменной»
	Вариант1
Решите уравнения
а)   3х=-18
б)  -4х=84
в) 2х+3=15-х
г) (х-1)-(х+8)=18х
д)  2(6х + 5) = 2х – 10
	Вариант2
Решите уравнения
а)   -5х=45
б)  4х=20,8
в) 0,5х+11=4-3х
г) 7х-(8х-36)=91
д)  6у-3(у-4)= 45 +2у

	Вариант3
Решите уравнения
а)   13х=-169
б)  -14х=2
в) 4у+7=5у+4
г )3(8-5х)+14х=15
д)  7х-(х+2)=10
	Вариант4
Решите уравнения
а)   11х=-0,22
б)  -1,5х=6
в) 1,3с+0,8=0,7с-1
г) 4х-(9х-6)=46
д)  2(3х + 5) = 2х +62

	Вариант5
Решите уравнения
а)   -10х=45
б)  -4х=0
в) 56-9а=-5а
г) 2x+3(x-4)=5
д)  (7x+1)-(6x+3)=5
	Вариант6
Решите уравнения
а)   0,3х=0
б)  6х=9
в) 5х+21=2х
г) 17-12х=3х-13
д)  20а=19-(3+12а)

	Вариант7
Решите уравнения
а)   -6х=90
б)  5х-150=0
в) 28-9у=-8-10у
г) 6m=1-(4-6m)
д)  5x+3(x+1)=6x+11
	Вариант8
Решите уравнения
а)   0,8х=-4
б)  -3х=48
в) 17-12n=3n-13
г) 20n=19-(3+12n)
д)  15+7(c+4)=64

	Вариант9
Решите уравнения
а)   -0,2х=5
б)  3х-12,9=0
в) 18-12х=25-13х
г) 0,8х+14=2(1-0,8х)
д) (6x+1)-(3-2x)=14
	Вариант10
Решите уравнения
а)   -9х=8,1
б)  2y-2=14
в) 15z+14=14z-9
г) 9(х+2)=11(х-2)
д)  5х-(8х-2)=17



